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General Instructions :
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2.

Candidate must write his/her Roll Number on the first page of the Question Paper.

Please check the Question Paper to verify that the total pages and the total number of questions
contained in the Question Paper are the same as those printed on the top of the first page.
Also check to see that the questions are in sequential order.

For the objective type of questions, you have to choose any one of the four alternatives given
in the question i.e. (A), (B), (C) or (D) and indicate your correct answer in the Answer-Book
given to you.

All the questions including objective type questions are to be answered within the allotted
time and no separate time limit is fixed for answering objective type questions.

Making any identification mark in the Answer-Book or writing Roll Number anywhere other
than the specified places will lead to disqualification of the candidate. ;

Write your Question Paper code No. 55/ AS/3-B on the Answer-Book.

(a) The Question Paper is in English/Hindi medium only. However, if you wish, you can
answer in any one of the languages listed below :
English, Hindi, Urdu, Punjabi, Bengali, Tamil, Malayalam, Kannada, Telugu, Marathi,
Oriya, Gujarati, Konkani, Manipuri, Assamese, Nepali, Kashmiri, Sanskrit and Sindhi.

You are required to indicate the language you have chosen to answer in the box provided
in the Answer-Book.

(b) If you choose to write the answer in the language other than Hindi and English, the
responsibility for any errors/mistakes in understanding the question will be yours only.
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Note : (1) Question Numbers (1-10) are Multiple Choice Questions. Each question carries
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®)

one mark. For each question, four alternative choices (A), (B), (C) and (D) are
provided, of which only one is correct. You have to select the correct alternative
and indicate it in the answer-book provided to you by writing (A), (B), (C) or (D)
as the case may be. Q. No. 11 to 15 also carry one mark each.

Question Numbers (16-25) carry 2 marks each.
Question Numbers (26-33) carry 4 marks each.
Question Numbers (34-36) carry 6 marks each.

All questions are compulsory.

¥ GE&AT (1-10) T Sgfamedl 99 (Multiple Choice Questions) T UE I T
3% &1 ® | 7F 9 H 9R fawew (A), (B), (C) 7 (D) fed 7 €, i & et o w
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¥ HE&AT (16-25) TF TIH W¥A & 2 30 ¢

¥ GEAT (26-33) TF WAH WA & 4 3F © |

T HEAT (34-36) TH TAF T F 6 3F ¢ |
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1. If a certain sum of money doubles itself at certain rate of simple interest in 16 years, it 1
will become three times the principal in what time ?
(A) 48 years (B) 32 years
(C) 25 years (D) None of the above
T o T FIHR0 =41 R & 16 96 H gt & St 81 =€ it e od A fim pon @

St ?

(A) 4879 (B) 3294
(C) 2579 (D) T ¥ forsht # &

2. Which of the following is a zero of the polynomial x2—7x+12 ? 1
A A IR TMagR 2-7x+ 2 F I 2
(A) 0 ® 7 © 3 D) 1

3.  One of the zeros of the polynomial x2—2x—-15 is : 1
IR 22— 21— 15 1 T YIH § :
(A) x=-5 (B) x=-3 (C) x=0 (D) x=3

4. §0f350+30% of 250=7 1
(A) 115 (B) 215 (C) 225 (D) 125

5. A certain sum of money is divided among 3 sons. Eldest receives g part, youngest 1

receives % part. The middle son received :

T2 TR A 3§ 9 | TR e R W .g. qF, TR B 11_2 yi fire | 96 FRE
g 9T o F fma s fagen?

2 3 5 7
A) 3 ® 5 = @ 5
6. A cylindrical pencil sharpened at one end is the combination of : 1
(A) a cone and a cylinder (B) frustum of a cone and a cylinder
(C) a hemisphere and a cylinder (D) two cylinders
T SR e St uw R @ et i #

(A) THIETHATTHAFFAASN  (B) Uh doi o H2l ga7 UF e |
(C) THASMAFRAMITT NI (D) = S &l |
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If one of the pairs of opposite angles of a quadrilateral are equal and other two angles
are 130° and 120°, then measure of each of the two equal angles will be :

Ife foredt Iqds & TO@ FI 1 TH S FHH F79 FH B q91 A9 HI00 AT 130° 7911200
2 & THE HI0 A B

(A) 130° (B) 120° (C) 55° (D) 110°

The quadrilateral formed by joining the midpoints of the pair of adjacent sides of a
rectangle is :

(A) rectangle (B) square (C) rhombus (D) trape.'r;ium
TF A & A el % gl % ue fagedi i faem aren 9gs @
(A) (B) (C) wHIGYS (D) WHe=

The point which lies on the perpendicular bisection of the line segment joining the
points A(-2, —=5) and B(2, 5) is :

= § | s fag A(-2, —5) 991 B(2, 5) I fae™ ot Y@ @ve F o FHfgHSE T
B
(A) (0,0) B 02 ©) (20 (D) (-2,0)

If an angle between two radii of a circle is 130°, the angle between the tangents at the
ends of the radii is :

Ife farelt o= 1 <1 sl % o= 1 101 130° 81 @ 37 et & B/ v di=h 8 e v
¥ 1= 1 I 20

(A) 90° (B) 50° (C) 70° (D) 40°

2 tan 60°

Find the value of o
1 + tan” 60°

2 tan 60°

——————— S HA Jd[[ FifoT |
1 + tan? 60°

Volume of a cube is 125 unit®. Find its total surface area.

Teh ¥ 1 AEE 125 TR T 1 TH U7 F FA TEIT AAFA T4 B




13. Find the compound interest on ¥ 500 at 10% for 2 years interest compounded annually.

%500 W 10% af 3T | 2 9% 1 Tehgfs A9 A0 Hifag |

14. If the angle of elevation of the top of a tower at a point 100 m away from the foot is
45° then find the height of the tower.

e Tk HAR 8 100 H =i g0 | HHR F a1 3997 F101 45° D 6 HAR F S9E 9@
HIfST |

15. Which term of the A.P. 14,11, 8, ... is (-1) ?
THIT 4G 14, 11, 8, ... T HAH T (1) B2

16. If A, B, C are interior angles of a AABC, then show that : sin(

ﬂﬁA,B,Cﬁﬂﬁ ABC & 371 W'@Iﬁ’fﬁ'@ﬁq :sin(B;CJ =cos—g—.

17. Marks obtained by 8 students of a class are 51, 36, 63, 38, 43, 52, 42 and 43.
(a) Find the mean marks of the class.
(b) What will be the mean marks if a student scoring 55 marks is also included in the
group ?
fersit sFem o 8 forenfefi g Wi € - 51, 36, 63, 38, 43, 52, 42 3R 43
(a) Toenfdai & wre sis 9 Fifew

(b) 355 3% I = forenef #1 ot wgE ® wfae # fon s wem s e @2

18. Find the value(s) of K for which the equation Kx?>-5x+K=0 has real and equal roots.
K &1 98 M 91d hifog e §Hieon Ka? - 51+ K=0 % 2 arafas 999 §a &l |

19. In two concentric circles 8 cm long chord of the larger circle touches the smaller circle.
If radius of the smaller circle is 3 cm, then find the radius of the larger circle.

< R gl H 9 g9 H1 8 WA, Tt Sfan B2 99 I gt &1 AE D1 9 1 7 3 AAL
A 9 g9 =t B Fa Hife
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If cotb = Z, evaluate : (1 + sinB)(1 — sinb) !
2 (1 + cosB)(1 — cos8)

afz coth = — v, (LSO = S) o g iferg
8 (1 + cosB)(1 — cosb)

60% of the students in a school are girls. If the total number of girls in the school is 690;
find the number of boys in the school.

e farerera H 60% forneft wrefrat &1 4tz forenem # wrefral #t Fo e 690 ¥ 4 fowed
T T HI GE&A F1d St |

If AC be one of the diagonals of rectangle ABCD, then prove that AABC = ACDA.
Ife @1 GUS AC @d ABCD %1 T faahvl @1, i fag HifSw AABC = ACDA |

The parallel sides of a trapezium are 3% cm and 4% cm respectively. Distance between
the parallel sides is 3% cm. Find the area of the trapezium.
T GHe TS H THRR YT HE: 3-% .. ik 4% Y, F 1 3 HER st & &

# gl 3-;- A, ¥ FHer gy F1 SAEE J4 B

The class marks of a distribution and the corresponding frequencies are given below :

ClassMark | 5 | 15 | 25 | 35 | 45 | 85 | 65 | 75
Frequency 2 6 | 10 115" 125 8 5 2

Determine the frequency table and construct the cummulative frequency table.

fordt 527 % ol famg i 9o SRERand e SR A ¥

i fae 5 | 15| 25|35 |45 |55 |65|75
SRERAl Iy RS I e NN B
ST IRERaT a9 Hed SRERal SR S |

Length of one diagonal of a thombus with side 10 cm is 16 cm. Find the length of the
other diagonal.

10 T3, W9 T SN A O GEegfst % U el # onard 16 WAL ¥ 3wk gE el
I T F1G ST |

ORREREARTMUURRAERW 1 Conea.
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29.

30.
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Find the co-ordinates of the point on x-axis which is equidistant from the points whose
co-ordinates are (3, 8) and (9, 5).

-39 R 39 fog & Frdwies 3@ =ifse st forgadi (3, 8) @9 (9, 5) | §AA T W B |

Construct a triangle ABC in which BC=4 cm, ZB=60°, AB—AC=1.2 cm.
& s ABC sl f5d : BC=4 9.4, ZB=60°, AB—AC=1.2 9.1 ¥
OR/ 3194t
(Only for visually impaired learners)
(e gfte famwmenn faenfeia & fow)

Write the steps of construction for constructing AABC, in which BC=4 cm, »B=60>
AB-AC=1.2 cm.

I ABC &1 o forg w1 % 1 ford, 99 faf BC=4 /71, £B=60°, AB— AC=1.29Hl.
Tl

A microwave oven is available for ¥ 9,600 cash or for ¥ 4,000 cash down payment and
3 monthly instalments of ¥ 2,000 each. Find the rate of interest charged under the
instalment plan.

TF AEHET 3EH 2 9,600 FHE 9 T 4,000 T P T Z 2,000 Fi 3 e forwdi A
S o # | o e A fer e s e 96 i

24547 _
B =57

2 +5(7
uﬁ‘r2—5\/7

If x + 7y, find x and y.

=x+ﬁy %ﬁﬁ,xﬁ?yaﬂmmﬂ-ﬁml

Two dice, one of black colour and other of blue colour, are thrown at the same time.
Write down all the possible outcomes. What is the probability that same number appear
on both dice ?

B YR T e 3R gE e T 9y 39T 9K € | weit Hfan o fafaw ) <6 o W
T € W& 3T T Wifehal 91 Fife |

Three years ago, Atul’s age was four times Parul’s age. After 5 years from now, Atul’s
age will be two times Parul’s age. Find their present ages.

7 o T, STE F Y e Y ST W 4 T o | NS W5 T WG, A H Y A H
A A AT | AR TAHAA 3T FA I |

4
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32. The bar graph given below represents the circulation of newspapers in six languages in 4
a town (figures are in hundreds). Read the bar graph and answer the following :

(a) Find the total number of news papers read in Hindi, English and Punjabi.

(b) Find the excess of the number of news paper read in Hindi over those of Urdu,
Marathi and Tamil together.

(c) In which language is the number of news papers read the least ?
(d) Write in increasing order the number of news papers read in different languages.

i <2 anera ford W ® ©: el H SHER TS 1 UgA all sl 9@ i FEid e R

(3 wemd 100 ¥ ¥) 38 ufen Fon f=1 el % S AT

@) T&=<d, sl oiR domet § we 9 9t F fope o €2

(b) T Hife fF 35, TS iR afre # e Tl it o Hemn ¥ fe< # e Al @l Hem
forat atfe €2

(c) Term e & THMER 9 TgH Sl i G <A © 2

(d) fafim vmoredi § o3 ggA Al @ e 9ed g %H | fafay |

800

700 A -

600 -

500 -

400 -

300 -

200 -

100 A .

English Hindi Punjabi Urdu Marathi Tamil
Language
L]

HHTER 95 9e dTell hl G

Number of News papers readers

OR/3tgan
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(Only for visually impaired learners)
(ehae gite faamenn faenfeat & fom)
The following data represents the weekly wages (in rupees) of the employees :

it st el it arafess wegd (F9dT o) wafdfa & € -

Weekly wages (in ¥)
qrafes weigd (X H)
Number of employees

HHEIE! 1 &

900 | 1000 | 1100 | 1200 | 1300 | 1400 | 1500

12 13 14 13 14 11 8

Find mean.

e 0 H1 |

33. The angle of elevation of the top of a building from the foot of a tower is 30° and the 4
angle of elevation of the top of the tower from the foot of the building is 60°. If the
tower is 50 m high, find the height of the building ?

T HHR & UE ¥ T 94 & @ 1 3994 =101 30° § 991 Yo & U 9 HAR & firew
I 0 60° €| IfE HHAR F FurE 50 HieX B, @ W i SEE J6 i

34. Show that the bisectors of the angles of parallelogram form a rectangle. 6

TITET T Uk THiR T F Fi F GUiGHSE TF Ed 599 &

35. A train travels 180 km at a uniform speed. If the speed has been 9 km/h more, it 6
would have taken 1 hour less for the same journey. Find the speed of the train.

T e 180 km Fi 0 T & fa ¥ Ferdt €1 3fg gwant a9 km Wl wver sife gt o
7% 96 g0 T F | 1992 Y At | RS i I Fid FHiferg |
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36. A juice seller serves his customers using a cylindrical glass with inner diameter 5 cm,
having a hemispherical portion raised which reduces the actual capacity of the glass.
If height of the glass is 10 cm. Find the apparent capacity of the glass and its actual
capacity. (Use m=3.14)
Toh 9 S Fe 379 WTeehi i SR firemdi § 59 3 €1 firems &1 sawafies = 5 4.
& a1 7 9 | o7 TR & F9 H I3 gen T 1 AfS sHH S 10 AHL. B A 39 Ao
a9 fe@a arl AFa 9@ ST (r=3.14)

=Scm—>

10 cm

o

~-000-
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